Chemistry Regents Review




NAME___________________________
     “IN TERMS OF…”

Directions: For each question write the word(s) you should use and/or the table you should research in the blank following “in terms of” and then answer the question.

Two isotopes of potassium are listed below.

37 K

42 K

1. State one similarity and one difference between potassium-37 and potassium-42 in terms of subatomic particles __________________________.
2. In terms of atomic mass and atomic number________________________________, state one similarity and one difference between 37K and 42K. 
3.  Compare 37 K  and 42 K  in terms of radioactive decay ________________.
4.  In terms of half-life ____________________, how are 37 K  and 42 K different?
Given the following equilibrium reaction:

N2 +  3 H2  ((  2 N H3   +   heat

5.  In terms of the collision theory __________________, state why adding extra N2 produces more NH3.
6.  In terms of LeChatelier’s principle ________________, state why adding extra N2 produces more NH3.
7. In terms of reaction rates ______________, explain why the concentration of the reactants and the concentration of the products remain constant.

8.  In terms of ground state, excited state, and energy transitions ____________________________, explain how a bright line spectrum is produced.

9.  State the relationship between molar mass and boiling points in terms of intermolecular forces _________.
10.  In terms of valence electrons ____________________, why is Li more like Fr than Be?

When NaCl is dissolved in water, the temperature of the solution decreases.

11.  Explain this statement in terms of heat flow ____________________.

12.  Explain this statement in terms of average kinetic energy _______________________.

NaCl has a higher melting point than C6H12O6

13.  Explain this statement in terms bonding_________________________.

14.  Explain this statement in terms of intermolecular forces ______________________.

15.  In terms of valence electrons __________________, explain why copper is a conductor.

16. CH4 will not dissolve in water, but NH3 will dissolve in water. Explain the solubility of NH3 in terms of molecule polarity__________________________.  Include both water and NH3 in the answer.

17. In terms of distribution of charge _____________________, explain why water is polar.

18. Explain in terms of carbon-carbon bonds __________________, why ethane us unsaturated.
Chemical X has a boiling point of 75 oC 

Chemical Y has a boiling point of 126 oC
19.  Explain this difference in boiling points in terms of heats of vaporization ___________________.

20.  Explain the difference in particles from liquid to solid in terms of energy _________________.

21.  Explain the change from gas to liquid in terms of particle arrangement _________________.

22.  Explain the difference between solid to gas in terms of intermolecular forces _______________.

23. Explain in terms of electron shells ___________________, why Ba is larger than Be. 

24. Explain in terms of chemical activity ________________________, why silver is a better choice to use in jewelry than magnesium. 

25. Determine in terms of particle arrangement _________________, if sodium would float or sink in distilled water (d=1.00g/mL).

